TFAATAT - &t (FAFRES) 9eH.1416
TECHNICIAN —B [ELECTRICIAN] - POST NO.1416

1. ﬁ—arﬁ ........... gt &1 gfafafed wtar %/ﬁ Figure represents the symbol of
a. I[etsh/Buzzer
b. €€/Bell

c. #Asshmie/Microphone
d. gfaya Qfeean/Dipole antenna

2. ddrEs fEe & fw gged aor . ¢/The colour used for warning sign is
a. el STSY Higd doll Iss3ffA AR weieh

Yellow background with black border and symbol
b. arer aTST |igd drem geasfA R gt

Yellow background with red border and symbol
C. el §TST Higd Athe Ysasfid AR el

White background with black border and symbol
d. orer aTSY g dthe geass{fd 3R g

White background with red border and symbol
3. farAfai@d Jerdt # frasr gawr 3= fafse gfaxrer &2
Which one of the following materials has the highest specific resistance?
a. aigy/Silver
b. &%=1/Gold
c. drar/Lead

d. g¥urda/Steel



4. B 3% faegatus # rafaf@d waredt F e smar g2

Which one of the following materials belongs to class B insulation

a. 99T sg/Paper board
b. Ye@#/Silk
c. surg/Cotton

d. s & =g Ag1/None of these

5. 1S 1293-2019% 38R 3HefH aleedT ....... as% &l
According to IS 1293-2019, the rated voltage is up to

a. 230V
b. 240V
c. 250V

d. s & ;S 7E1/None of these
6. 40SWG d& dr & Hieslere Tl URT SR ....... gl
Approximate fusing current of 40SWG copper wire is
a. 3A
b. 5A

c. 7A
d. 10A

7. TEFaRd &hol WOT Al & GoU F [eafai@a & T Hia-ar T@r a8 22

Which of the following is not correct for squirrel cage induction motor?

a. 3= 9RHeT 3mgul/High starting torque

b. WX aR ¥ ®9 ¥ AE wHe fw g 8/Rotor bars are permanently short-circuited
c. @ryrer faAorSimple construction

d. IR & TT AeT Fsold 1 RIAEET & SieT g ST Fehell/

Rotor winding cannot be connected to rheostat for starting



8.

11.

H gof faegaiieet &1 3feehds el arvame fhder §?
What is the maximum safe temperature of class H insulation
a. 105°C

b. 130 °C

c.155°C
d. 180 °C

IRt 7 FHzoleT ... # waifaa feew ama §/Windings on interpoles are connected in

a. Breg & iy Ao #/Series with field
b. fres & ary gATAT #H/Parallel with field
C. ®ad & a1y Aofr #A/Series with armature

d. a9 & T AT #/Parallel with armature

. A e H wAfAfAATE & forw g/Commutator in DC generator is to

a. gIH 3M3cYe Yl Fa/Provide smoother output

b. 9Ra wdT & T 7 gRafda &=/Convert the induced AC into DC
C. T A FTpfelar 1 A F=/Reduce sparking in the brush

d. 5577 & =+ sigi/None of these

s AC g9y & KVA/KW &1 3r9rd ... &/In an AC circuit the ratio of KVA/KW is

a. afea gmﬁm/Power factor
b. 3e#R (aits) aquTien/Load factor
C. &9 a;rUW/Form factor

d. 5797 & Fis o sgi/None of these



12. v OIS A T WFERR ger gatar 0.858 I1f3Tars e & el 3itad effae ateedar 2.1V
TS = & el 3lEa cffae ateedr 2.55 V &1 dre-ger ceTar FaT 87

Ampere hour efficiency of a storage cell is 0.85. Average terminal voltage during discharging is 2.1

V and average terminal voltage during charging is 2.55 V. What is the Watt Hour efficiency?

a. 0.65
b.0.7
c.0.75
d.0.8

13. fr=fafga & @ a4 urg Gsehilt & 18 & S Srar g2

Which of the following is known as metal rectifier

a. fafers smre/Silicon diode

b. am sitTarse sEe/Copper oxide diode
C. T afar smre/Gas tube diode

d. s & =1 «ft 7&/None of these

14. fa%e hsfas el # ygeFd fdegd-3vuey ........ gl

Electrolyte used in nickel cadmium battery is

a. KOH

b. H2SO4

c. NACH

d. Diluted HCI

15. Yo @15 W UF HBAT F @ig &8 400 W B| 318 &5 WX olig grafeder 872
A transformer has 400 W as iron loss at full load. What is the iron loss at half load.

a. 50w

b. 100 W
c. 200 W
d. 400 W



16.

17.

18.

T 3Tt CRARIER @ TIBAY & 9fd By IR dleedl,gfadidesd Ifd B WX drecdT........ gl

The voltage per turn of the primary of a step up transformer is ---------- the voltage per turn of the
secondary.

a. & gHAT/Same as
b. & 311%%/More than
C. ¥ s#/Less than

d. TEBIEAT 3gaTd @H & FAE/Equal to transformer ratio times

T A B FH IsAd W 1000%% 3R gfadas X 50 &1 9IsAdT 9red WX arele dreear 200
V(RMS) 3R @iz gfadier 530A g1 faer afea & aReaa Hifaw]

An ideal transformer has 1000 turns on its primary and 50 turns on its secondary. The driving

voltage in the primary side is 200 V (RMS) and load resistance is 5 Ohm. Calculate the input power.

a. 1I0W
b. 20 W
. 30W
. 40W

o O

T ZEBIER gfacge H 106 & @ 100 mWb(GRIha#) #T Teh SATEhT Foldd ool & gfacideh
&1 aRe emf HrMsATT &7 Rl HITSTTIETAS 3gha 50 Hz Bl

A sinusoidal flex of 100 mWhb (maximum) links with 10 turns of a transformer secondary. Calculate

the rms value of the induced emf in the secondary. Supply frequency is 50 Hz.

a. 222V
b. 444V
c. 666 V
d. 888V



19

20.

21.

22.

T afdT # TATIT Siel &1 ST T AET Hed @1 Sl g, dr 3Hepr aof .. # gRafda gar g1

When moisture content of silica gel in a breather gets saturated, its colour changes from

a. erer § Arem/Pink to Blue

b. aem & aremsi/Blue to Pink
c. 9rem & &irern/Yellow to Blue
d. sfrem & qre/Blue to Yellow

fRT T Mg W IoIdT T Slc»qqoleﬂ AT & 3d9lT A FToleT ... gRafdd &ar gl

The variation in excitation of a synchronous motor running with a given load changes

a. Arex 1 AfFa qonisn/Power factor of the motor

b. Aex &1 3ar/Motor speed

C. HleX 1 3Ty deedi/Applied voltage of the motor
d. 35« @ef/All the above

TR AleT HI T 390 & IRUMHETRT ... 81T &

Wave excitation of a stepper motor results in

a. 31T @redt/Half stepping

b.g&# @/ Microstepping

c. afya |t ivr/Increased step angle
d. s & FI5 o sigi/None of these

Damper winding on salient pole alternator is

a. IR Fzoled & AT Ao H Sisr S g/Connected in series with armature winding

b. 3R Fse0 & WY FATR H SNer Sirar g/ Connected in parallel with armature winding
C. Ya &H W yer fhar Sdr g/Provided on the pole face

d. 3ug#d & & +ig =Agi/None of the above



23. 200V t gic SeRex 100Aar g1afe e & gfaiy 3R shag (3mR) ufaRrer seaer:50 Q3R
0.10%, ar 3curfed dreedr &1 9aT o@my|

A shunt generator delivers 100A at 200V. Find the generated voltage if shunt field resistance and

armature resistance are 50 Qand 0.1 Q respectively.

a. 200 v
b. 210 V
c. 209.6V
d. 2104V

24, TH FUT T Hl A el A 99 g 87

How many parallel paths are there in a triplex wave winding?

a.2
b.3
C.5
d.6

25. ws 37 A Y FReT F Sreear [IAT gAAT ....BAT B

In an overcompound d.c. generator, the voltage regulation is always

a. eI/ Positive
b. ®umeAes/Negative
C. g=a/Zero

d. Fag (3MHIR) URT W @4 @R Far g/Sign depends on armature current

26. ... ﬁmﬁamgwmmmmﬁa@rmm%l

The speed of a d.c. motor can be controlled by varying

a. 3rT9ged dteear/Applied voltage

b. wererqr gfar ¢a/Flux per pole

C. had (3THTR) IRy FHr gfearrer/Resistance of armature circuit
d. 3ugea gsfi/All the above



217.

28.

29.

Teh AT T A W HAcsT GULI0T ... 51 &1 Udl odley & [ fomar Srar gl

Retardation test on a d.c. shunt motor is used for finding ------ losses

a. ard/Copper
b. ergr/Iron

c. ayur/Friction
d. 3raifed/Stray

50 Hz @eemg & |ryr Siig a1¢ 950 rpm @R wefcll 6-¢7dT, 3-aholl UReh HIET T guTeh URT IR 4T 87

What is the rotor current frequency of a 6-pole, 3-phase induction motor running at 950 rpm while

connected to 50 Hz supply.

a. 50 Hz
b. 47.5 Hz
c.525Hz
d. 2.5 Hz

U FHAI F&Telel & TAT AT SToled Fe 39gad gl § adifeh3eish dloedl AR ... 81 |
Shunt generators are most suited for stable parallel operation because their voltage characteristics
is

a. Yf@w/Linear

b. Ig@=/Identical

c. rcii/Dropping

d. 3eurerefer/Rising

. TR & cfuged @IH &1 39T ... FT IdT @Y & faT foRam Srar g1

Flemings right hand rule is used to find the

a. guTe @1 f&em/Direction of rotation
b. wererg $r feam/Direction of flux
c. emf &r f&em/Direction of emf

d. ser-3mget v f&=m/Direction of torque



31.

32.

33.

Ao 3ustol & @ fohgehr gue & fow LAvh sMCB &1 #&g &7 & 393197 fohar Sirdr 82

L series MCB is mainly used to protect which of the flowing equipment?

a. arareshers/Air conditioner
b. #Hrew/Motor

c. IM/Geyser

d. Irae/Refrigerator

ag-ﬁﬁwm?ﬁvﬁmwwﬁwmmw%?

Which type of distribution system is most suitable for multi-storey building

a. 3¢ #H«/Raising mains

b. s@e dew/Busbar chamber

c. 310 faavur/Radial distribution

d. 39ea # &1 8 =igi/None of the above

$-TCRIY T Il Tl & TIT of-od0eTor SuEhT & ST foham Sirar § 3R e dteear & fow ary &
arSAiehel NAST foham | foeafaf@a & R s-gfaer aAmer siar 82
Earth tester equipment is used to find the earth resistance and took current readings n times for a

fixed voltage. Which of the following is considered as the earth resistance?

a. n gredie # gad &A gfasre/Lowest resistance in n readings

b. n greais A @& 3T ufar/Highest resistance in n readings
C. n gradieh &1 drad gfeRra/Average resistance of the n readings

d. as9 3=a IRasd FAISAS & 3iad/Average of highest and lowest readings



34. a9y ATdesd F1 FfAGRUT &TH T ....... g/Rupturing capacity of circuit breaker is

35.

36.

a. IRIY e ganl el I ST Gehaddlell 3fASHaA dleedr

The maximum voltage the circuit breaker can interrupt
b. aRuy fITdeedh GanrT HRTTT FHr ST Hholdrell HfURIA GRT

The maximum current the circuit breaker can interrupt
c. IRy Aedew GarT HRIA 1 I Hehalarell AfVFHIA AfFT

The maximum power the circuit breaker can interrupt
d. IRTY [a=deeh GaRT FeRIAT I ST FeholdToll JTRRAH EROT URT

The maximum leakage current the circuit breaker can interrupt

Th AR Ao IS B A M 9iFadr § 3R e afFd & 4o F n T &1 39R 9 T Fr
3TARSE 9faRrer r 3R as gfaer R &, ar 3if@eas afed 3iaRor & faw a7 eagei?

In a parallel series combination cells, there are m rows and each row contains n cells in series. If r
is the internal resistance of each cell and R is the load resistance, what is the condition for maximum

power transfer?

amR=n.r
b.R=nr
c. R=m.r

d. R=m.nr

AR fdegd @9 & ol & fohe &9 &1 9297 fhar Sirar g2

Which form of energy is utilised in tidal power plants.

a. @ STor &1 atfast Seit/Kinetic energy of sea water
b. wed ster v feufast 3it/Potential energy of sea water
C. TS STor &1 atfs 3R Reufast 3, gt/Both kinetic and potential energy of sea water

d. | Ster s oReT Fei/Wave energy of sea water

10



37. ARTR A AFT AT H e TR & RUFeT &1 39A1T foham Sirar g2

What type of reactor is used in Tarapur atomic power plant?

a. 7Ifard ergor R¥arey/Molten salt reactor

b. FgueT Ster Raey/Boiling water reactor

c. arfad &Y =iy Rowrex/Pressurised heavy water reactor
d. sad @ 315 off agi/None of these

38. Teh eIl A AN feT dclg @1 YEed fRar e &1 A & e g W wfdew i e sifdarg
1 feom & drer 1 o 30°F 60° Feerdr 8, dr SaiTd & IRade $T AT #1487

A surface is illuminated by a light source. If the angle between the normal at a point on the surface
and the direction of luminous flux changes from 30° to 60° what is the ratio of change in the

illumination?

a. V3:1
b. 2:1
c. 4:1

d. v2:1

39. XLPE e e T AdS ...... 2/XLPE cable means

a. 1 IW@T giter el shaer/Cross Line Poly Ethylene cable

b. sraEsey JwX Vel daer/Cross Linked Paper ethylene cable

C. difer VelleT shael I Tard-va</X — Layers of Ploy Ethylene cable
d. s & F1g ofr AET/None of these

40. IRRE™ET W Aesi ... T FUR & fov famar Sirar §

Soldering is done on wire joints to improve

a. drefshar/Conductivity
b. 3mstreT greea/Bonding Strength
c. d=gdr/Ductility

d. a1 amEed/Tensile strength

11



41.

42.

43.

deT gfaes & 9foRIy1:2:331urd & 81 SI9 30¢ AR H FASAT Far Scr § o qidy gferier
60Q¢| afg 3¢ Aol &F AT Far T ar wardr gfaer fraar &2

Three resistors have resistances in the ratio 1:2:3. When they are connected in parallel, the

effective resistance is 60Q.What is the effective resistance when they are connected in series?

a. 180Q
b. 540Q
c. 660Q
d. 720Q

T FUTRA & ST dlecdl Hid & @Y AT fRar a3 81 3R §A A & e gay duria &t
Aoft & ST 0 @ TgorduTRT H ARG AT FH1 FAT E?
A capacitor is connected to a dc voltage source. If another capacitor of same value is connected

in series, what happens to the charge stored in the first capacitor?

a.T& FATT Ig9n/Remains same
b.g7rAT gem/Becomes double

c.U& dTtars grm/Becomes one fourth
d.3mer grem/Becomes half

WRLW&W%@W%@mmqﬁra#ggmﬁvmm%,ﬁmer%gmﬁﬁmmﬁ?

An RL circuit has a power factor of % . If the frequency is doubled, what is the new power factor?

12



44,

45,

s RLC 9Roy & ofFd qones 4/581 afshg Aafed IRUTAemdr afdd & weqard Fa1 gem?3nR afed
I[uTieh 75%8Y ST &, of S8 3fefdrd I 4T gram?

In an RLC circuit, the power factor is 4/5. What is the ratio of the active power to the reactive

power? If the power factor becomes 75%, what happens to this ratio?

. URfYP 3MUd 5:3 3R Wfad Ui IRad & a1 URafdd Surd 5:4 g
Initial ratio 5:3 and ratio changes to 5:4 after power factor change

b. URME Srud 3:43MR W TUie URade & a1 uRafdd S/ 5:3 gm
Initial ratio 3:4 and ratio changes to 5:3 after power factor change

c. URM® U 5:3 3R Wfd uie uRadd & a T uRafdd sMua 3:4 g
Initial ratio 5:3 and ratio changes to 3:4 after power factor change

d. IRfY® Srud 3:4 3R W Ui URad— & wIe uRafdd 3gurd 4:3 8m

Initial ratio 3:4 and ratio changes to 4:3 after power factor change

ob)

A fow arT aRuy & @ @ o 19 U7 fohefelr 8?7 Aeaaitefey(G) gfarer 10081

What is the current drawn from the cell in the circuit shown below. The galvanometer (G) resistance
is 10Q2 .

-

30k 60k

24V

a. OmA

b. 0.5mA
c. 0.7mA
d. 0.9mA

13



46. | AT @ A & fow Q e vy fhaAr S 82

47.

48.

Q meter is used for measuring which quantity?

a.arst/Charge

b.gfaeren/Impedance

c. erfed/Power

d.3udsa & @ 1S 8 =1€i/None of the above

Ao & et ofemsyer g Afed IUlieh F HF FT &7

Which of the following works with nearly zero power factor

a.9’o1 et/ Induction cooker
b.agéea «fa/Incandescent lamp
C.9%oT Arex/Induction motor
d.3ugea @sii/All of the above

100QufaeTd &1 T W, 50Qufaard &1 e FuiRT 31t 50Q% te gfaietes & o & Ser m=r g1

aRTy &1 Afed UM FAT 7

An inductor of reactance 100<, a capacitor of reactance 502 and a resistor of 50Q are connected

in series. What is the power factor of the circuit?

14



49. wh FUIRT fSHehr Wded arg §, F el IfAaTem & oA & @Y Sgr 747 g1 oA Th
YR AT HT UIadish @M &1 3R Toleh & o i gl &l gaJen 3R Toleh & yerrar atather &l
3T Y ST ST §, v dlecATdr FI UTSdieh fhdelT gIe?

A capacitor with air as dielectric is connected to a voltmeter of infinite impedance. The voltmeter
reads a nonzero value. If the distance between the plates is doubled and the effective area of the

plates is made half, what happens to the voltmeter reading?

a.Ts AT Igan/Remains the same
b.us =itens gem/Becomes one fourth
C. IR I gram/Becomes four times

d.3mem grem/Becomes half

50. 40V3iad dlecdl @ JoFa Teh 378 a1 IR WISl 3T 1 40QFTeRIUS: & gl of SR SifeT g
gfoRiees & &Ra afea Far 872

A half wave rectified sine wave having average voltage of 40V is passed through a 40 resistor.

What is the power dissipated in the resistor.

a. 40w
b. 20W
c. 96.1W
d. 31.4W

15



51. gORR 3ARTSE dlel Teh B3 FY cldﬁqvlu-ialqﬁouq ares # gRafda fFar srar g1 &8 & de1s

52.

53.

FIIA TN S § AR GARAT & SRt goret & amm F F1S @i 7 @l s F Raw § i
L T B & TRIUT FT I T 82

A rod with circular cross section is converted to a rod of square cross section. The length of the rod
is maintained and no material is lost while the reshaping. What is the ratio of the resistances of the

rods measured along the length.

FTQJ
=l

N *_l_:l ;|

c. —:2

d. 39ea # & #ig & 7gi/None of the above

farafaf@a & @ o aRTEufaat A& RCAH auy & g9y & 3R-uR dieear W&« §9 @ J&dr 872

In a RC series circuit, the voltage across the capacitor increases linearly under which of the

following conditions?

a.gree did & forar /ar emr &R §/Current drawn from the charging source is constant
b.arere dfa & forar = afed fax g/Power drawn from the charging source is constant
c.aTe dId & IR-UR dleedr 2R g/Voltage across the charging source is constant
d.3udsa & @ 1S 8 =1€i/None of the above

Tsh IR I gfaerar, v fAfse 3gfy f o v @uiRE & Jelelm A g &1 3R 3¢ AU 7 Sher
ST, A 3feAreY gy s &7

Impedance of an inductor is twice that of a capacitor at a particular frequency f. If they are

connected in series, what is the resonant frequency?

(a)
(b) V2 f
(©) 2f
(d) 4f

16



54. fdegd-3rqecs # 3PRIAeId-3Tued @ g S8l URT I & ST, dr 9fd Ahvs Folagls T Had

55.

56.

In electrolysis, if the current passing through the electrolyte doubles, the total mass of ions

liberated at the electrode in every second

a. Tsh AT Ear &/Remains the same
b. gar=T 81 Sirer &/Becomes double
C. IR [T g1 Srar g/Becomes four times

d. 39iea # & Hig & =gi/None of the above

SIS S 3Fel Aol @I HARAT foham Sirem 8, af faegd-31aaey &1 gelcd ...

When a lead acid cell is charged the density of the electrolyte

a.9ger dedr & 3T Y & grar g/First increases and then decreases
b.gger & giar ¢ 3it Y sear &/First decreases and then increases
c.g¢dr g/Increases

d.# grar g&/Decreases

SLI se&r & S, L 3Rl & #Adew ... q gl
In SLI Battery, S, L and | stand for

a.gr3fser, amsféar, sarereraa/Sounding, Lighting, Injection
b.¥erféar,ameféar, ge=ie/Starting, Lighting, Ignition

C.8%, oI dse, FogiAaene/Safe, Light weight, Illumination
d.3udsa & @ 1S 8 1€i/None of the above

17



S7.

58.

59.

60.

Seq A1eT e & gishar & SR 68 &7 @t # sl vemf # 10 V & 12Vas & W@s gefer g
g1 TreerY dieear 15V g1t Soff gaifed ufokias & 1A & fRR 9RT 60 @a & for SRR
gaErfST far srar 2 m&?aﬁammwmﬁaﬁmﬂﬁg@ﬁﬁaﬁammﬁ

During a battery charging process, the emf of the battery increases from 10 V to 12V linearly over
a period of 6 hours. The charging voltage is 15V. A series connected resistor is continuously
adjusted to maintain a constant current of 1A. What is the energy wasted in the system assuming
ideal charging source and ideal battery.

a. 24Wh
b. 18Wh
c. 30 Wh
d. 39ea # & #ig & =gi/None of the above

x% +y* +4x + 2y + 4 = 0 g0 ganr sfafafae & Searega d e v §?

What is the radius of the circle represented by the equation x? + y? + 4x + 2y + 4 =0

a. 1l
b.2
c.4
d. 10
el AT TH qUlteh &I TeT 248 | HEAT3HT HT JUh fohaTr §7?

Sum of three consecutive even integers is 24. What is the product of the numbers?

a. 240
b. 320
c. 480
d. 520

195x 195 +2x195 x5+ 25 &r AT ........ 2/The value of 195 x 195+ 2x 195 x5+ 25 is

a. 39605
b. 40000
c. 40825
d. 36725

18



61. 2,4,8,.50f & 5lar U5 ..... &/ 51% term of the progression 2, 4, 8, .. is

a. 2%
b. 2%0
c. 2%
d.2%2

62. #ATET &1 gar oeme/Find the mean of

x4 (5 |6 |7 |8 |9
fl14 |3 |3 |5 |3 |2

a. 6.5
b.7.0
c.3.0
d. s & F15 ofr FE/None of these

63. WIfRAsdr &1 9ar @MU f& e I 3Ry 7 53fFar &l

Find the probability that there are 53 Sundays in a non-leap year

a. 53/365
b. 1/365
c. 52/365
d. 1/7

64. 3P cosx = sin 60 sin 30 + cos 60 cos 308, d@ X & AT &7 IdT FMT|

Find the value of x, if cos x = sin 60 sin 30 + cos 60 cos 30

a. 30°
b. 45°
c. 60°
d. 90°

19



65. Teh IR T &1 oias 5aey, dieg 4#fex 3R emar 60 m31 480 cmBetdar & @1 S # U

66.

OICT AT FHAT IR AT a/T| ST T oS &1 Il oy |
A rectangular tank has 5 m length, 4 m width and 60 m? capacity. A small model of the tank is made

with a capacity of 480 cm?®. Find the length of the model.

a. bem
b.5cm
c.10cm
d. 50 cm

8

5k gfadieres & gle dgaidTell ORT & ATl & IdT oTemy]|

Find the value of the current through 5k resistor.

5k

a. 2.34mA
b. 2.88mA
c. 2.94mA
d. 3mA

20



67. & feU atT gR9Y FA R &1 FFATH A ... g S JeR T AT F AT

68.

In the circuit shown below the minimum value of R that will turn on the Zener is

§R

4 K

ANy
15v :;__*

6V

a. 3.15K
b. 2.67K
c. 4.34K
d. 5.23K

g few arw gRwy & B=99 31kVbe=0.7VE| HIAEI 4RT & AT & IdT M|

In the circuit given below, =99 and Vbe=0.7V. Find the value of collector current.

a. 0.99mA
b. 0.95mA
c. 0.92mA
d. 1.04mA

5V

30K

4K

=

7\
[

15v

?K

21



69. Vi=VmSinwt & fov f= & sv aigy & fov @H aeear Vo Far &2

What is the output voltage Vo for the circuit below for Vi=VmSinwt

a.vVm

b. =a/zero

C.2Vm
d.-Vm

70. dfharcAs (opamp) 9ROY ........ AT Ll §

The opamp circuit represents

Vin

a. 3=g 9R& fhect/High pass filter
b. §5 R fheey/Band pass filter
c. 83 RoteFe fhect/Band reject filter

d. 3re7 9R& fhee/Low pass filter



71. 490 a1fory (F13eY) & el & fow fhdar e walal i e g 872

A divide by 490 counter requires how many flip flops?

a. 7
b.8
c.9
d. 10

72. A9 gaTleT 25+15=43 & GEr B F fAT I&IAT YUmelr T IUW ........ gl

The base of the number system for the addition operation 25+15=43 to be true is

73. farafaf@d # #i9 v decar Rty gfea 78 §?
Which of the following is not a voltage controlled device?
a. MOSFET
b. JFET

c. IGBT
d. BJT

23



74. 7 # fe@w v 9R9y F A Y. §
The output Y of the circuit shown in the figure is

a. A+B+C + DE
b. ABC+D+E

c. ABC+D +E

d. ABC+D+E

75. 4% 1Mux @ e ... ¢/The output of the 4 to 1 Mux is

3
! > MUX

~— 0

Ve 51 S0
vV X

a.x+y

b. x+y

C. X.

d x+y

76. weh IR Fadel JiFd & HR-UR Y Fofl 3Rl H G ... J
The function of snubber across a power switching device is to
a. dV/dt =1 serar/Increase dV/dt
b. dl/dt = =er=/Reduce dl/dt
c. dV/dt =1 Jesaa1/Suppress dV/dt
d. 3uged & & #ig & w€/None of the above
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77. 75 T91 & Yot # AfWedATIwIOT g 872
Which class of amplifier has maximum distortion?
a. A adf/Class A
b. B asf/Class B
c. AB a9/Class AB
d. C adf/Class C

78. U 91T TcgAT ARl fohd dic & Awfa &ar g/The given truth table represents which gate

A B Y
0 0 1
0 1 0
1 0 0
1 1 1

a. NOR 31c/NOR gate

b. NAND 31c/NAND gate

C. ThiassOR/Exclusive OR

d. tsfassNOR/Exclusive NOR

79. D a9 ®ell & ¥t 9 Heohel ([@aater) v 3mgfer SKHz g1 3cumemefier R EaiRa D o welld ahr

TS W Hehd T G ... gl
The frequency of the signal at the output of the D flip flop is 5KHz. The frequency of the signal at
the clock of the rising edge triggered D flip flop is

Ik

Clock Q
— Ck Output

a. 5KHz

b. 2.5KHz
c. 10KHz
d. 20KHz
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80. fax & e areear Vo & gar «@me/Find the output voltage Vo in the figure

-3V

Sk
ity -

" Vo

+10W

.-12V
12V
. -10V
.10V

o O T o

*kkhkhkhkkkx
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